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QUESTION 1

Which statement is correct about a Junos Fusion Data Center fabric deployment?

A. Each aggregation device is managed separately.

B. Each satellite device is managed separately.

C. At satellite devices are managed and configured by an aggregation device.

D. All satellite and aggregation devices must be running the same version of Junos OS.

Correct Answer: C

QUESTION 2

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN
controller. Which statement is true in this scenario?

A. All bare-metal servers must run a vSRX instance for overlay tunneling.
B. All virtualized servers must run a vSRX instance for overlay tunneling
C. All bare-metal serer must run a vRouter for overlay tunneling

D. All virtualized servers must run a vRouter for overlay tunneling

Correct Answer: BC

QUESTION 3

What would you use to balance traffic loads between servers in a Clos Layer 3 data center fabric?
A. MC-LAG

B. multicast protocols

C. ECMP routing

D. BGP export policies

Correct Answer: C

QUESTION 4

You plan to deploy a set of SRX Series devices in an active/passive chassis cluster with an active/active network
infrastructure.

Which two statements are true in this scenario? (Choose two.)
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A. This deployment scenario is recommended when firewall services are used extensively for north-south traffic.
B. This deployment scenario is recommended when firewall services are used extensively for east-west traffic.
C. End-host traffic is serviced through one SRX node during non-failure conditions.

D. End-host traffic is serviced through both SRX nodes during non-failure conditions.

Correct Answer: AC

QUESTION 5

You want to use the Intrusion Prevention System features of a vSRX virtual firewall to protect systems from attacks
embedded in traffic. In this scenario, which three technologies would be used? (Choose three.)

A. protocol decodes
B. zero-day protection
C. traffic normalization
D. application firewall
E. application tracking

Correct Answer: BCD
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